©oAtEzel

- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
reketel ot 527,239 449,849 77,390
NS elEdE 35,322 22,525 12,797
NSIH dAE AL= CHLY 462 385 I
ASIH dAE ALE SHUHE 85 462 385 I
201 et 462 385 77
01 AtR2tcIbl 462 385 77
OXSA EIIEAF QS KIA I
77,0002 «64f At 462
NSI SE2¢c 34,860 22,140 12,720
ASx 2ot & 82 15,000 2,280 12,720
201 Ler2 | 15,000 2,280 12,720
01 AR 2t2Ibl 15,000 2,280 12,720
OXSXt St A+ M 5002 +30,000% 15,000
NsI SELEX 19,860 19,860 0
201 &er=gll 19,860 19,860 0
01 ArZ2tcIbl 19,860 19,860 0
OXSi S=28 AEA 50@%122,6800H 6,134
OXNSA SES UM 702 +5,8400 12 4,906
OXSxt SSTER(Z,2)2UM
302 *12,50001 122 4,500
OXNSXt 7RSS 2218 RA2=H
360,000& 123 4,320
SEXE0 et A X 282,019 267,620 14,399
NSA Eeis 2 200,371 201,925 21,564
tEfE St 187,771 192,925 A5,154
201 LBty 187,771 192,925 A5,154
01 At 2tcIbl 21,325 21,325 0
OXNSXUEHE OXA ME X QI
11023 %193, 86024 21,325
02 E3=23Hl 166,446 171,600 A5, 154
Oxtgdld 24 2ER=s 166,446
—2et 250 +30,0004 122 90,000
-3l 1,7502%3,47424x 128 72,954
—Soletss 1,500& %1944+ 122 3,492
d=2 M 12,600 9,000 3,600
201 e 12,600 9,000 3,600
01 AtR2t2|bl 12,600 9,000 3,600
OXNSIt HEHE AEINE =58
480,000,000 *2% 9,600
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Arg2te| ot
SHXE0 e g2 Xel

ool ISX DEHS 22l (SRR
- _ AN
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
| | N EEESIE T 3,000 *1,00024 3,000
QOHE R R 10,548 14,970 A4, 422
SOHERI XIS IS M2 10,548 14,970 A4, 422
201 YBr2 S| 1,800 2,010 A210
01 At2Z2lH| 840 960 A120
OSTHEXI X2 SIZZAIZ PDA AL
35,000 4*2[H*12% 840
02 ZZe| 960 1,050 A9
OSCHRIXF2F D20l 2 X SX
16,0002 *60CH 960
307 QI2H0|& 8,748 12,960 A4212
05 DI2tQIEr=2 8,748 12,960 A4,212
OSCHERIXb2F 2ol 2
27,0002 %27 CH*12 8,748
MR EK 2o 71,100 50,725 20,375
B ek S 2 Hel 71,100 50,725 20,375
201 YBr2 S 22,990 20,835 155
01 AtZ2lH| 11,550 10,875 675
O£ QT =Y 6,600
—222(F6t,FE=)  250,0008 %11 *23] 5,500
—223} 100,00024* 1154 1,100
OXNEX XA EIAAY SN B2 4,950
—288 ST 165,000 * 122 1,980
— PO R| SXZT2O 165,000 * 122 1,980
— Mbize] 82,5009 * 122 990
02 ZZ2a| 11,440 11,960 AB20
ORISR 22y 9lur c=xiz 882
460,000 *4CH 1,840
OXFSXF 22l I8 G2 S|
200,000 *4CH 122 9,600
200 04| 17,160 20,280 A3,120
01 =2LHoIH| 17,160 20,280 A3,120
OB TG L XISSHEZA SHED22A0 Y]
10, 000°J*11m*130'*1zg 17,160
203 YR=ZTH| 2,000 2,000 0
03 AIME=RYREZIY 2,000 2,000 0
Oxtg simze =& 2,000,000 2,000
405 KHAHE SH] 28,950 5,610 23,340
01 MY SEFSY| 28,950 5,610 23,340
OH&Y2 2 PA 2 990,000 *5CH 4,950
OHs9e ez Y 12,000,000 *2CH 24,000
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FA tEete|
M AZ2IJHI(MF2A2L)
ol ol | (etol:®e)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
Y 2B (AE2eln) 209,898 159,704 50,194
eI 24| 42,873 39,134 3,739
kala] 38,313 34,574 3,739
101 1Ay 38,313 34,574 3,739
03 RIAHAZZNE S 38,313 34,574 3,739
O2IAQIOHY QlAH| 38,313
—Jz2 934,990 x2& 123 22,440
—d0= 22,439, 7603 %4/12 7,480
— Xt 32,7203 2«10 655
—HelsSA=g 60,0002 «2& » 12 1,440
—2H0HS 30,0003 x2H 123 720
—ZU22rg 6, 1303 »2H «15A| 2t 12 2,207
—=8g=3 34,940,880 %45/ 1,000 1,573
—&HEE 34,940,880 %10/1,000 350
—IS=2E 34,940,880 %13/1,000 455
—2LEE 34,940,880 %26.65/1,000 932
—EoAIRALEE 931, 1742 +65.5/1,000 61
=gala] 4,560 4,560 0
203 g4 4,560 4,560 0
04 FA2SERFI 4,560 4,560 0
OFNESHIFAYI
(350,000&+(5,0002 6 ) )*12& 4,560
Jl23Hl 167,025 120,570 46,455
aet2d| 109,585 68,730 40,855
201 Ler2 | 108,185 68,730 39,455
01 A2l 86,585 68,730 17,855
ORAME2EII22HI 43,200
—2e-E 50,0002 *36E »12& 21,600
—=Hl 50,0002 x36& x12& 21,600
OSAD| EXt2 120,000& =404 = 12& 5,760
OO ALEAE 2Is SASK 7Y
20,0002 x3604} At 7,200
Oxtzelga weolgol H3 18 2l
100,000& x12& 1,200
OelsIl 228 8l & =it
40,0002 =40 = 12& 1,920
OZAMESI 22F 2|
150,000 ~5CH 6K 4,500
OEL 0N ZelH 423 2|
1,300,000 *1CH*2H 2,600
OZozely 223 FH|
200,000 =204 =102 4,000

- 193 -




S TRl
B HEPAAL (TR

ctel: D123l (e &2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
OSROBHIAAE A =2 140,000 122 1,680
O==2 |22/l 250,000 x12& 3,000
Ost&E4a /Xl 300,000& *12& 3,600
oMgIsE < 3,420 *1, 44004 4,925
OAlE = X2tel M=l 250,000& *12& 3,000
=322l 21,600 0 21,600
O3223 ¥ HMAl 21,600
—NIIe3 1,300,000 122 15,600
—Hol+ERs 500,000& *x12& 6,000
M=z bl 1,400 0 1,400
M=zl 1,400 0 1,400
Otz stz ¢ 35,000& *10JH *43] 1,400
51,840 51,840 0
(]l 51,840 51,840 0
=Y 51,840 51,840 0
HRFAI|20i] 120,000 x36 H *12& 51,840
Sl 5,600 0 5,600
A& SHI 5,600 0 5,600
L ESFH S 5,600 0 5,600
OoID g 3,600,000 *1CH 3,600
O==2 1¢ 2,000,000 * 104 2,000
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